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(A )22.Choose a number from 1 to 9, times (3f€)the number by 3 and plus 3. After that we
times the result by 3 again and gives you another number. What 1s the sum of the
digit in tens place(-H{17#%) and the digit in ones place({E {7 %7)?
(A)9 (B)12 (O)15 (D) unsure
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(B )23.Right graph is made by 8 identical (*H[E]#Y)squares, what is ZABC?
(A)120° (B)135° (O)150° (D) 165° s
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(A )24. There are nine cards are labelled (Z3E)from 1-9. Joe, Bill, and Cathy take three
cards each.
Joe said:  “The product of my cards is 48.”
Bill said: “The sum of my cards is 15.”
Cathy said “All my cards are odd numbers(Z7#%), the difference(Z%) between the
largest number and the smallest number arranged by three cards in different order 1s
792.” Which is correct?
(A)Joe has the cards with 2,3,8 labelled. (B)Joe has the cards with 2,4,6 labelled.
(C)Bill has the cards with 3,5,7 labelled. (D)B1ll has the cards with 3,4,8 labelled.
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(  C )25. As the graph shown, there are right angle line segments (B FAFHT453ES)formed by
three straight line inside a square, the length of three straight line 1s 5,6 and 9. Find
the shaded area. (A)45 (B)50 (C)55 (D)60

<HHEE>

WlE - £ (EHET NS = R Y B AT 4R » HRE RS~ 6F19 -

RS2 H A EEARR By o (A)45 (B)50 (C)55 (D)60

<fEAFT>

ERFERE (15 +5)+2=125 , ymampn 5 3 3
K2 WER 5y FrbAfas2 3 oy HAE By LN
125+242x6+2-3x9+2=55 by N 5
BEC - ‘

FOH/IFTH



o~ EHERAERE 25 47 0 50 497

1AL SRR — R A B AR (E SR 2 3:4 0 1AEKE 5 FE4L T /KRR 3 MBI KiESE 135
TC 0 PSCATEE 1 AL S KR | SRR KR 2 2/ D Ir?

<fEMT>

5x3+4x3=27

135+27=5

5x(34+4)=35

Z B35 T

2. B AERAEINEESR - BEE LS TRFTERETH T %%H’%&%ﬁ%ﬂa‘

JEE %%T%'@U% CAIERAE T 2 ﬁ?ﬂéﬁ:ﬁﬁ%ﬁﬁ 0 %??%@J% 1 GEREEZIER
FE o T —E BB WRIREERINEAE » U BCRA 7E?
<fEAT>
3 F=2:1=42
FE25=2:1
=421

1

. 4 _2 _I
CETF= o #F=L s a5

FTH/IFETH





